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QUESTION 1

Refer to the exhibit.

¥ validatePayload

-©-0-0

HTTP: GET | "Before” payload “After*

&

» Error handling

<flow name="validatePayload" >
<http:listener doc:nome="HTTP: GET /" config-ref="HTTP_Listener_config" path="/"/>
<set-paylood value="Before® doc:name='"Before”' />
<volidation:is-null doc:nome="payload” value="#lpayload]" message="Validation Error'"/>
<set-paylood value="After” doc:names="'"After"™" /=

< flows

What is the response to a web client request to http://localhost:8081?
A. After

B. before

C. Validation Error

D. null

Correct Answer: C

QUESTION 2

A Mule application configured with Autodiscovery implements an API. Where is governance enforced for policies
defined for this Mule application?

A. In Runtime Manager
B. Runtime Manager

C. In the Mule application
D. In APl manager

Correct Answer: D
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Correct answer is APl manager

QUESTION 3
Refer to the exhibits.

A web client sends sale data in a POST request to the Mule application. The Transform Message component then
enrich the payload by prepending a vendor name to the sale data.

What is written to the sales.csv file when the flow executes?

<?xml version="1.8" encoding="UTF-8"7> ¥ writeRecords
<sale=
ctransaction_id=>55-4848-44KK-45Y </ transaction_id>
<customer_lid>anniepoint@ocme . com</ customer_id>
<customer>Annie Point</customer>

<item=Car Segt</items

“qty>1</qgty> HTTP: POST /sales Add vendor name File: sales.csv
<price>59</prices ’

</sale>

i
® Error handling

<flow nomes="writeRecords” >
chttp:listener doc:names"HTTP: POST Ssales” config-refs"HTTP_Listener_config"
path= "/sgles” allowedMethodss "POST "/
<ee:transform doc:name="Add vendor name® =
<EE:Message >
<ge:set-paylood ><! [CDATAXdw 2.8
output application/json
{vendor: "Acme"} ++ paylood.sole]]s
</ee:set-payloads
</ messages
</ea: transform
<file:write doc:nome="File: sales.csv" path="file-store /sales.csv">
< file:writes
</ Flow>

A. The enriched payload in JSON format
B. The enriched payload in XML format
C. The enriched payload in CSV format
D. An error message

Correct Answer: A

Reference: https://developer.mulesoft.com/tutorials-and-howtos/quick-start/how-to-create-your-first-munit-test-in-
anypoint-studio
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QUESTION 4

What is the minimum Cloudhub worker size that can be specified while deploying mule application?

A. 0.2 vCores

B. 0.5 vCores

C. 1.0 vCores

D. 0.1 vCores

Correct Answer: D

Correct answer is 0.1 vCores MuleSoft Doc Ref : https://docs.mulesoft.com/runtime-manager/cloudhub-

architecture#cloudhub-workers CloudHub Workers Workers are dedicated instances of Mule runtime engine that run

your integration applications on CloudHub. The memory capacity and processing power of a worker depends on how

you configure it at the application level. Worker sizes have different compute, memory, and storage capacities. You can
scale workers vertically by selecting one of the available worker sizes:

Worker Size Heap Memory Storage

0.1 vCores 500 MB 8 GB
0.2 vCores 1GB 8 GB

1 vCore 1.5GB 12 GB
2 vCores 3.5 GB 40 GB
4 vCores /5 GB 388 GB
8 vCores 15 GB 168 GB

16 vCores 32 GB 328 GB
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N 5

Refer to the exhibit.

<7zml wve
<ordars

<t

</t
</orders

&z order.xml

rsion="1,8" encoding="UTF-8"7?>

<item orderld="532">

<shipping=international</shipping
<items=T-shirt Novy</items
«Sizesl </sizes
<quantity>l</guantity>
aprice=2@</prices

e N

<item orderld="272"s

<shipping>domestic</shipping>
<item=Corgo Shorts</items
<sizesXl</sizes
<quantity=2</quontity>
<price>3</price>

B>

_Cnntext_ payload 2 .

Output Payload » = # §

1&%dw 2.0
output application/json

L

]

{

h
1

1

"index": @,

"orderId”: “582",
“{temMame": “T-shirt Nawy",
"lineltemPrice”: 20

"index": 1,

"orderld": "972",
"itemMome": "Cargo Shorts”,
"lineltemPrice"; 6@

What Database expression transforms the input to the output?
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A paylcad.order.*item map ( (value,index} —->
index: index,
orderId: value.orderId,
itemName: wvalue.item,
lineltemPrice: (value.price as :number) * (value.guantity as :number)

]

B. payload.order.vitem map ( (value,index) =-> {
index: index,
erderId: walue.BorderId,
itemiame: valus.item,

lineItemPrice: (wvalue.price as Number)] * (valus.quantity as Humber)

1}
C. payload.order.*item map [ (value,index) —-> {
imdex: index,
orderTd: wvalue.@orderId,
itemiame: walue.litem,
lineltemPrice: (value.price ae :number) * (value.guantlity as :number)
1
g
paylcad.order.¥*item map(| {(value,index) —-> |
index: index,
orderId: value.orderId,
itemifame: wvalue.item,
lineItemPrice: (value.price as Number) * (value.guantity as Number)
H
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B
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